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SECTION - A (i) General Awareness

Hkkx & v  (i) lkekU; tkudkjh

1. Which of the following Journalists has been con-
ferred with the RedInk Award for lifetime
achievement?

fuEufyf[kr esa ls fdl i=kdkj  dks vkthoku miyC/h
ds fy, jsMbad  iqjLdkj iznku fd;k x;k gS\
(a) Arnab Goswami/vuZc xksLokeh
(b) Prannoy Roy/iz.ko jkW;
(c) Shekhar Gupta/'ks[kj xqIrk
(d) Krishna Prasad/Ñ".k izlkn

2. Who has been  appointed as Chairperson of the
Children Film Society of India (CFSI)?

Hkkjrh; cky fiQYe lkslkbVh (lh,iQ,lvkbZ)  dk
vè;{k  fdls fu;qDr fd;k x;k gS\
(a) Mukesh Khanna/eqds'k [kUuk
(b) Jaya Bachchan/t;k cPpu
(c) Ram Gopal Verma/jke xksiky oekZ
(d) Govind/xksfoUn

3. What is India’s current global ranking in terms

of electricity generation from nuclear source?

v.kq Ïksrksa ls fctyh mRiknu djus ds ekeys esa Hkkjr

dk fo'o esa jSafdax (Øekad) gS
(a) 10th (b) 7th

(c) 13th (d) 12th

4. Moortidevi award is iven for excellence in the
field of

ewfrZnsoh iqjLdkj bl {ks=k esa Js"Brk ds fy, fn;k tkrk gSA

(a) Classical dance/'kkL=kh; uR̀;
(b) Classical music/'kkL=kh; laxhr
(c) Cinematography/pyfp=k.k
(d) Literature/lkfgR;

5. Which organization has been entrusted with the
responsibility of  issuing e-tickets for entry to
Taj Mahal and the Humayun’s Tomb?

rkt egy vkSj gqek;qa dk edcjk ds fy, bZ&fVdV nsus
dh ftEesnkjh fdl laLFkk dks nh xbZ gS\

(a) SBI (b) IRCTC

(c) NIC (d) HDFC

6. Which city is famous for the Chithiral festival,
one of world’s longest festivals?

nqfu;k dk ,d lcls yEck lekjksg] fpfrjk; lekjksg
ds fy, dkSulk 'kgj izfl¼ gS\

(a) Madurai/enqjS

(b) Patna/iVuk

(c) Ahmedabad/vgenkckn

(d) Mysore/eSlwj
7. Omar al-Bashir, has been re-elected as President

of which country?

mej vy&cf'kj fdl ns'k ds vè;{k gSa tks iqufuZokZfpr
gq, gSa\

(a) Syria/lhfj;k (b) Sudan/lqnku

(c) Iran/bjku (d) Ukraine/;qØsu
8. As per data, which are the two Indian cities at

highest risk of being devastated by an
earthquake?

vk¡dM+ksaa ds vuqlkj HkwdEi ls rckgh ds vf/dre [krjs
okys nks Hkkjrhj 'kgj dkSu ls gSa\

(a) Guwahati and Nagpur/xqokgkVh vkSj ukxiqj

(b) Nagpur and Sri Nagar/ukxiqj vkSj Jhuxj

(c) Guwahati and  Sri Nagar/xqokgkVh vkSj Jhuxj

(d) Jamnagar and Guwahati/tkeuxj vkSj xqokgkVh
9. Which of the following leaders has been recently

(April 2015) honoured with Officer of the Legion
of Honour, the highest French civilian
distinction?

fuEu esa ls fdl usrk dks vkWfiQlj vkWiQ n fytu vkWiQ
vkWuj] ÚkUl dh mPpre vlSfud mikf/ gky gh esa
(vizSy 2015) iznku dh xbZ gSa\

(a) V.K. Singh/oh-ds- flag

(b) Yashwant Sinha/;'koUr flUgk

(c) Arvind Kejriwal/vjfoUn dstjhoky

(d) Kapil Sibal/dfiy flcy
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10. Which of the following schemes has been
renamed as AMRUT scheme?

fuEu esa ls fdl ;kstuk dk iqu% ukedj.k AMRUT

;kstuk fd;k x;k gS\
(a) Jawaharlal Nehru National Urban Renewal

Mission/tokgjyky usg# us'kuy vcZu fjU;qvy fe'ku
(b) Rajiv Awas Yojana/jktho vkokl ;kstuk
(c) Indira Gandhi Matritva Sahayog Yojana

bafnjk xka/h ekf=kRo  lg;ksx ;kstuk
(d) Jawahar Rojgar Yojana/tokgj jkstxkj ;kstuk

11. Which of the following terms is used in the game
of cricket?

fuEu esa ls fdl in dk fØdsV esa mi;ksx fd;k tkrk gS\
(a) Tee/Vh
(b) Penalty/isukYVh
(c) No ball/uks ckWy
(d) None of these/buesa ls dksbZ ugha

12. World Day for Water is observed on which of
the following days?

fuEu esa ls fdl fnu ty fnol euk;k tkrk gS\
(a) 22nd March/22 ekpZ
(b) 22nd April/22 vizSy
(c) 22nd May/22 ebZ
(d) 22nd June/22 twu

13. What is the name of Indian Navy's proposed new
base  near Porbandar in Gujarat?

iksjcanj] xqtjkr ds lehi ukS lsuk ds fu;ksftr u;s
vM~Ms dk uke D;k gS\
(a) INS Mahatma Gandhi/vkbZ,u,l egkRek xka/h
(b) INS Subhash Chandra Bose/vkbZ,u,l lqHkk"k

pUnz cksl
(c) INS Sardar Vallabhai Patel/vkbZ,u,l ljnkj

oYyHkHkkbZ iVsy
(d) INS Bhagat Singh/vkbZ,u,l Hkxr flag

14. Which automobile maker launched the safe Roads
compaign to create awareness about road safety?

dkSu ls eksVj dkj mRiknd us lM+d lqj{krk ds ckjs esa
tkudkjh nsus ds fy, lqjf{kr lM+d (lsiQ jksM+) vfHk;ku
dh 'kq#vkr dh gS\
(a) Tata Motors/VkVk eksVlZ
(b) Mercedes Benz/eflZfMt csat
(c) Toyota/Vks;ksVk
(d) Hyundai/gqaMS

15. Which team has won the Men's National Hockey

Championship 2015?

fdl Vhe us iq#"k jk"Vªh; gkWdh pSafi;uf'ki 2015 ftrh gS\
(a) Karnataka/dukZVd
(b) Telangana/rsyaxkuk
(c) Indian Railways/Hkkjrh; jsyos
(d) Madhya Pradesh/eè; izns'k

16. The Bipolar disorder is related to which among
the following?

f}/qzoh; chekjh fuEu esa ls fdlls lEcfU/r gS\
(a) Heart/ân; (b) Lungs/iQsiQMs
(c) Brain/efLr"d (d) Liver/;Ñr

17. Gold mines in India are located mainly in

lksus dh [knkusa Hkkjr esa eq[;r% ;gk¡ fLFkr gSa
(a) Kolar/dksykj
(b) Raniganj/jkuhxat
(c) Veeranam/ohjkue~
(d) Jadugoda/tknqxksMk

18. "Anti Tobacco Day" is observed in India on which
one of the following days?

fuEu esa ls fdl fnu Hkkjr esa ^rackdw fojks/h fnol*
euk;k tkrk gS\
(a) 11th April/11 vizSy
(b) 11th May/11 ebZ
(c) 31st July/31 tqykbZ
(d) 31st May/31 ebZ

19. Who amongst the following is the author of the
book "Cricket My Style"?

^^fØdsV ekbZ LVkbZy** fdrkc ds fuEu ls dkSu ys[kd gSa\
(a) Sunil Gavaskar/lquhy xkoLdj
(b) Ravi Shastri/jfo 'kkL=kh
(c) Kapil Dev/dfiy nso
(d) Sachin Tendulkar/lfpu rsanqydj

20. Who is the Chairman off BCCI Technical
Committee that has recommended several
changes in Ranaji format?

j.kth ;kstuk esa vusd cnyko dk lq>ko nsus okyh
chlhlhvkbZ dh rduhdh lfefr ds vè;{k dkSu gSa\
(a) Sachin Tendulkar/lfpu rssanqydj
(b) Anil Kumble/vfuy dqacys
(c) Rahul Dravid/jkgqy nzfoM+
(d) Ajay Jadeja/vt; tMstk
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 (ii) General Intelligence and Reasoning Ability

 (ii) lkekU; cqf¼eÙkk rFkk rkfdZd ;ksX;rk
21. DHL, PTX, BFJ, ?

(a) CGK (b) KOS
(c) NRV (d) RVZ

22. G, H, J, M, ?, V

(a) Q (b) T
(c) O (d) R

23. ATTRIBUTION, TTRIBUTIO, RIBUTIO, IBUTI, ?

(a) IBU (b) UT
(c) UTI (d) BUT

24. KUZ, MOX, OIV, QET......?

(a) SUR (b) SDR
(c) SMR (d) SAR

25. 25 : 36 : : 49 : .......

(a) 61 (b) 64
(c) 65 (d) 60

26. 27 : 51 : : 83 : .......

(a) 102 (b) 117
(c) 123 (d) 138

27. 11 : 25 : : 17 : ......

(a) 38 (b) 28
(c) 41 (d) 37

28. 11 : 121 : : 12 : .......

(a) 1728 (b) 303
(c) 1968 (d) 144

29. Insect : Disease : : War : ?

fujh{k.k % chekjh % % ;q¼ % \
(a) Army/lSU; (b) Defeat/gkj
(c) Arsenal/ck#n (d) Destruction/rckgh

30. Book : Cover : : Painting : ?

fdrkc % vkoj.k % % fp=k % \
(a) Example/mnkgj.k (b) Wall/nhokj
(c) Colour/jax (d) Frame/pkS[kV

31. Float : Sink : : Boat : ?

rSjuk % Mwcuk % % uko % \
(a) Ship/tgkt
(b) War/;q¼
(c) Submarine/iuMqCch
(d) Missile/iz{ksi.kkL=k

32. Water : Dam : : Trade : ?

ikuh % ck¡/ % % O;kikj % \

(a) Commerce/okf.kT;
(b) Economy/vFkZ O;oLFkk
(c) Goods/eky
(d) Trade Policy/uhfr;k¡

33. Introducing a girl Vipin said, "Her mother is the
only daughtter of my mother-in-law." How is
Vipin related to that girl?

,d yM+dh dh igpku crkrs gq, fofiu us dgk
^^mldh ek¡ esjh lkl dh bdykSrh csVh gS**A ml
yM+dh ls fofiu dk D;k ukrk gS\
(a) Uncle/pkpk (b) Father/firk
(c) Brother/HkkbZ (d) Husband/ifr

34. Showing the lady in the park, Vineet said, "She
is the daughter of my grandfather's only son, "
How is Vineet related to that lady?

cxhps esa ,d efgyyk dh vksj ns[kdj fouhr us dgk
^^og esjs nknkth ds bdykSrs csVs dh csVh gS**A ml
efgyk ls fouhr fdl rjg lEcfU/r gS\
(a) Brother/HkkbZ (b) Cousin/ppsjk HkkbZ
(c) Father/firk (d) Uncle/pkpk

35. A man daid to a lady, "Your mother's husband's
sister is my aunt". How is that lady related to
that man?

,d O;fDr efgyk ls dgrk gS ̂ ^ vkids ek¡ ds ifr dh
cgu esjh ekSlh gS**A og efgyk ml O;fDr ls fdl
rjg lEcfU/r gS\
(a) Daughter/iq=kh
(b) Sister/iq=kh
(c) Grand Daughter/iksrh
(d) Mother/ek¡

36. Introducing a man, a woman said, "His wife is
the only daughter of my father". How is that man
related to the woman?

,d O;fÙkQ dh igpku djrs gq, efgyk us dgk ̂ mldh
iRuh esjs firk  dh bdykSrh csVh gS**A ml efgyk dk
ml O;fÙkQ ls D;k ukrk gS\
(a) Husband/ifr
(b) Brother/HkkbZ
(c) Father-in-law/llwj
(d) Maternal-Uncle/ekek
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37. 'Bank' is related to 'Money' in the same way
'Transport' is related to?

ftl izdkj ^cSad* ;g ^isSlk*  ls lEcfU/r gS] mlh
izdkj ^ifjogu* fdlls lEcfU/r gS\
(a) Goods/eky
(b) Road/lM+d
(c) Movement/gypy
(d) Traffic/;krk;kr

38. 'Fan'  is related to  'Wings' in the same way
'Wheel' is related to

ftl izdkj ^ia[kk* ;g ^ia[kksa* ls lEcfU/r gS] mlh
izdkj ^ifg;k* fdlls lacaf/r gS\
(a) Round/xksy
(b) Cars/dkj
(c) Spokes/vkjs
(d) Moves/pky

39. Captain is related to 'Soldier' in the same way
'Leader' is related to

ftl izdkj ^dSIVu* ;g ^lSfud* ls lEcfU/r gS] mlh
izdkj ^usrk* fdlls lEcfU/r gS\
(a) Chair/dqlhZ (b) Follower/vuq;k;h
(c) Patient/jksxh (d) Medicine/nokbZ

40. 'Skirmish' is related to 'War' in the same 'Disease'
is related to

ftl izdkj ^eqBHksM* ;g ^;q¼* ls lEcfU/r gS] mlh
izdkj ^jksx* fdlls lEcfU/r gS\
(a) Infection/laØe.k
(b) Epidemic/egkekjh
(c) Patient/jksxh
(d) Death/e`R;q

(iii) Arithmetic and Numerical Ability

(iii) vadxf.krh; ,oa la[;kRed ;ksX;rk

41. In a class, except 18 all are above 50 years. 15
are below 50 years of age. How many people
are there?

,d d{kk esa 18 dks NksMdj lHkh 50 ls vf/d mej
okys gSaA 15 dh mej 50 lky ls de dh gSA ,sls esa
ml d{kk esa fdrus fo|kFkhZ Fks\
(a) 30 (b) 33
(c) 36

(d) none of these/buesa ls dksbZ ugha

42. If a boat is moving in upstream with velocity of
14 km/hr and goes downstream with a velocity
of 40 km/hr, then what is the speed of the
stream?

;fn ,d uko /kjk ds izfrdwy 14 fdeh-@?kaVh dh osx
ls vkSj vuqizokg 40 fdeh-@?kaVk osx ls pyrh gS] rks
ml izokg dh xfr fdruh gS\
(a) 13 km/hr
(b) 26 km/hr
(c) 34 km/hr

(d) none of these/buesa ls dksbZ ugha
43. Find the value of (0.75 * 0.75 * 0.75 - 0.001)/

(0.75 * 0.75 * - 0.075 + 0.01)

(0.75 * 0.75 * 0.75 - 0.001)/(0.75 * 0.75 * - 0.075

+ 0.01) dk ewY; irk dhft,
(a) 0.845 (b) 1.90
(c) 2.312 (d) 0.001

44. A can have a piece of work done in 8 days, B can
work three times faster than the A, C can work
five times faster than A. How many days will they
take to do the work together?

A ,d dke dks 8 fnuksa esa dj ldrk gSA B ;g A ls
frxqus vf/d xfr ls vkSj C ;g A ls ik¡p xquk vf/
d xfr ls dke dj ldrs gSaa mu lHkh dks lkFk esa og
dke djus esa fdruk le; yxsxk\
(a) 3 days/3 fnu
(b) 8/9 days/8@9 fnu
(c) 4 days/4 fnu
(d) can't say/crk;k ugha tk ldrk

45. If a car starts from A towards B with some
velocity due to some problem in the engine after
travelling 30 km. If the car goes with 4/5th of its
actual velocity the car reaches B 45 min. later to
the actual time. If the car engine fails after
travelling 45 km. The car reaches the destination
B 36 min. late to the actual time, what is the
initial velocity of car and what is the distance
between A and B in km?

,d dkj A txg ls izkjEHk gks dj B txg dh vksj tk
jgh Fkh ysfdu 30 fdeh- tkus ds ckn dqN [kjkch ds
dkj.k og dkj vius lkekU; xfr ls 4@5 xfr ls tkrs
gq, vius fuf'pr le; ls 45 feuV nsjh ls B rd
igq¡prh gSA ;fn dkj dk batu 45 fdeh- ds ckn [kjkc
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gks tkrk gS] rc og B rd vius fuf'pr le; ls 36
feuV nsjh ls igq¡prh gSA ,sls esa ml dkj dh vkjfEHkd
xfr fdruh Fkh vkSj A vkSj B ds chp dk iQklyk
fdruk Fkk\
(a) 20 & 130/20 vkSj 130
(b) 20 & 120/20 vkSj 120
(c) 30 & 130/30 vkSj 130
(d) 30 & 120/20 vkSj 120

46. In a certain company 20% of the men and 40%
of the women attended the annual company
picnic. If 35% of all the employees are men. What
% of all the employee went to the picnic?

,d fuf'pr daiuh esa iq#"kksa ds 20% us vkSj efgykvksa
ds 40%  us daiuh okf"kZd fidfud esa fgLlk fy;kA
;fn ml daiuh ds 35% deZpkjh iq#"k gSa rks ml daiuh
ds fdrus izfr'kr deZpkfj;ksa us fidfud eas fgLlk
fy;k\
(a) 23% (b) 33%
(c) 43% (d) 13%

47. During a given week a programmer spend 1/4
of his time preparing charts, 3/8  of his time for
coding, rest of his time for debugging the
programs. If he had 48 hrs, during the week how
many hours did he spend debugging the
program?

,d izksxzkej fdlh Hkh ,d lIrkg esa 1@4 le; pkVZ
cukus esa 3@8 le; dksfMax esa vkSj cpk le; izksxzke dks
Mh&cx djus esa yxrk gSA ;fn mlds ikl ,d lIrkg
esa 48 ?k.Vksa dk le; miyC/ gS] rks og ml izksxzke dks
Mh&cx djus esa fdruk le; fcrkrk gS\
(a) 15 hrs./15 ?kaVs (b) 16 hrs./16 ?kaVs
(c) 17 hrs./17 ?kaVs (d) 18 hrs./18 ?kaVs

48. A 16 storey building has 12000 sq. ft. on each
floor. Company A rents 7 floors and company B
rents 4 floors. What is the number of square feet
of unrented floor space?

,d 16 eaftys bekjr dh gj  eafty esa 12000 sq. ft.

txg miyC/ gSA A daiuh 7 eaftys vkSj B daiuh 4
eaftys fdjk;s ij ysrh gSA ml bekjr esa vHkh Hkh
fdruh oxZ iqQV (sq. ft.) txg cxSj fdjk;s dh gS\
(a) 50000 sq. ft. (b) 60000 sq. ft.
(c) 70000 sq. ft. (d) 80000 sq. ft.

49. The average salary of three employees is 95 Rs.
per week. If one employee earns 115 and other
earns 65 rupees. How much will third be earn?

rhu deZpkfj;ksa dh gÝrs Hkj dh vkSlr vkenuh #- 95
gSA ;fn ,d deZpkjh 115 vkSj nwljk 65#- dekrk gS]
rks rhljs dh dekbZ fdruh gS\
(a) 105 Rs./105 #- (b) 106 Rs./106 #-
(c) 107 Rs./1077 #- (d) 108 Rs./108 #-

50. In a computer tape library there are two racks
with 40 tapes per rack. In a given day 30 tapes
are in use. What fraction remains in the rack?

,d daI;wVj Vsi ykbczsjh esa 40 VsÝokys nks jSad gSA fnu
ds fdlh le; 40 Vsi mi;ksx esa gksrs gSaA ,sls esa ml
jSad esa Vsaiks dh fdruk fgLlk jgrk gS\
(a) 3/8
(b) 4/7
(c) 5/8

(d) None of above/Åijh dksbZ ugha
51. From its total income a company spent $20,000

for advertising half of the remainder on salaries
and had $6000 left. What was the total income?

,d dEiuh viuh dqy vk; dk $20]000 izpkj ds
fy,] cps dk vk/k osru esa [kpZus ds ckn $6]000
cpkrh gSA ml dEiuh dh dqy vk; fdruh Fkh\
(a) $32,000 (b) $22,000
(c) $12,000 (d) $11,000

52. A man owns 2/3 of a computer service baroque
business and sells 3/4 of his share for $75,000.
What is the value of the business?

,d O;fÙkQ daI;wVj lsok ds cSjksd O;kikj ds 2@3 fgLls
dk ekfyd gS vkSj mlds fgLls dk 3@4 fgLlk og
$75]000 esa csprk gS] rks ml O;kikj dk ewY; fdruk
gS\
(a) $1,40,000 (b) $1,50,000
(c) $1,60,000 (d) $1,70,000

53. A computer printer produces 176400 lines in a
given day. If the printer was in operation for 7
hrs during the day how many lines did it print
per minute?

,d daI;wVj dk fizaVj fdlh Hkh ,d fnu esa 176400
iafÙkQ;ksa dks fuekZ.k djrk gSA ;fn og fizavj 7 ?k.Vksa ds
fy, dke djrk gS] rks ,d feuV esa og fdruh iafÙkQ;k¡
fizaV djsxk\
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(a) 420
(b) 440
(c) 550

(d) None of the above/Åijh dksbZ ugha
54. A boy multipilled a number with 10 and got 100,

instead of dividing it. If he divided it what would
be the answer?

,d yM+ds us ,d la[;k dks 10 ls foHkktuu djus dh
txg xq.kk djus ls mls 100 feyrk gSA ;fn og mls
foHkkftr djrk gS rks mÙkj D;k gksxk\
(a) 1 (b) 2
(c) 3 (d) 4

55. A train moves past a phone post and a bridge
264 m long in 8 seconds and 20 seconds
respectively. What is the speed of the train?

,d Vªsu iQksu ds [kEHks dks vkSj 264 eh- yEcs iwy dks
Øe'k% 8 lsd.M vkSj 20 lsd.M le; esa ikj djrh
gS] rks ml Vªsu dh xfr D;k gS\
(a) 75 km/hr (b) 82 km/hr
(c) 79 km/hr (d) 79.2 km/hr

56. How many seconds will a 500 meter long train
take to cross a man walking with a speed of 3
km/hr in the direction of the moving train if the
speed of the train is 63/hr?

,d 3 fdeh-@?kaVk dh xfr ls pyus okys vkneh dks
mlh fn'kk esa tkus okyh 500 ehVj yEckbZ dh Vªsu
ftldh xfr 63 fdeh-@?kaVk gS] fdrus lsd.M esa ikj
dj tk;sxh\
(a) 32 (b) 30
(c) 40 (d) 48

57. A jogger running at 9 km/hr alongside a railway
track is 240 meters ahead of the engine of a 120
metre long train running at 45 km/hr in the same
direction. In how much time will the train pass
the jogger?

,d nkSMkd 9 fdeh-@?kaVk dh jÝrkj ls 120 ehVj
yEckbZ dh Vªsu ds batu ls 240 ehVj vkxs iVjh ds lFk
nkSM+ jgk gS ;fn og Vªsu mlds gh fn'kk esa 45 fdeh-
@?kaVk jÝrkj ls nkSM jgh gS] rks ml nkSM+d dks og Vªsu
fdrus le; esa ikj dj tk,xh\
(a) 38 sec/38 lsd.M
(b) 20 sec/20 lsd.M
(c) 36 sec/36 lsd.M
(d) 72 sec/72 lsd.M

58. A 110 metres long train is running with a speed
of 60 kmph in what time will it pass a man who
is running at 6 kmph in the direction opposite
to that in which the train is going?

110ehVj yEckbZ dh ,d Vªsu 60 fdeh- izfr ?kaVk jÝrkj
ls nkSM jgh gSA 6 fdeh- izfr ?k.Vk xfr ls izfreq[k fn'kk
ls vkus okys vkneh dks og fdrus le; esa ij dj
tk;sxh\
(a) 8 sec/8 lsd.M
(b) 6 sec/6 lsd.M
(c) 7 sec/7 lsd.M
(d) 12 sec/12 lsd.M

59. The difference between the place value and the
face value of 6 in the number 856973 is

856973 la[;k esa 6 ds LFkku ewY; (Iysl osY;w) vkSj
izR;{k ewY; (iQsl osY;w) dk vUrj gS
(a) 973
(b) 6973
(c) 5994

(d) None of these/buesa ls dksbZ ugha
60. The difference between the place value of the

two sevens in the number 69758472 is

69758472 bl la[;k esa nks lkrksa ds LFkku ewY; dk
vUrj gS
(a) 0
(b) 6973
(c) 699930

(d) None of these/buesa ls dksbZ ugha

(iv) Test of Language : Hindi

(iv) Hkk"kk ijh{k.k % fgUnh

61. ftu Nk=kksa us ifjJe fd;kA os mÙkh.kZ gks x,A feJ okD;
cukvksA
(a) ftu Nk=kksa us ifjJe fd;k os mÙkh.kZ gks x,A
(b) ifjJe djus okys Nk=k mÙkh.kZ gks x,A
(c) mÙkh.kZ gksus okys  Nk=k ifjJeh FksA
(d) ifjJeh Nk=k mÙkh.kZ gks x,A

62. dkSulk feJ okD; gS\
(a) dekus okyk gh [kkrk gSA
(b) tks dek,xk oks [kk,xkA
(c) dekdj gh [kk;k tkrk gSA
(d) dekrs gSa vkSj [kkrs gSaA
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63. mlds ikl lc dqN Fkk vkSj lc [kks x;kA feJ okD;
cukvksA
(a) mlds ikl  tks dqN Fkk] x;kA
(b) mlds ikl tks dqN Fkk] og [kks x;kA
(c) mlds ikl tks dqN Fkk vkSj og [kks x;kA
(d) pwafd mlds ikl tks dqN Fkk  og [kks pqdk gSA

64. dkSulk feJ okD; gS\
(a) lc vdsys&vdssys vius fy, thuk pkgrs gSaA
(b) ckrsa djrs gSa Økafr dh] ij laHkyrk ugha viuk

'kjhj HkhA
(c) vki losjs&losjs ?kj ls fudy x, vkSj vHkh rd

ugha ykSVsA
(d) eSa ogh iqLrd ywaxk] tks lchuk esjs fy, ykbZ  gSA

65. xM~<+k [kksndj etnwj pys x,A feJ okD; cukvks
(a) etnwjksa us xM~<+k [kksnk vkSj os pys x,A
(b) tc etnwjksa us xM~<+k [kksn fy;k rc os pys x,A
(c) etnwjksa n~okjk xM~<+k [kksn fy;k rc os pys x,A
(d) etnwj xM~<k [kksndj pys x,A

66. fHk[kkjh Hkw[kk gSA mls Hkkstu nksA bu okD;ksa ls la;qDr
okD; cukvksA
(a) Hkw[ks fHk[kkjh dks Hkkstu nksA
(b) og fHk[kkjh Hkw[kk gS blfy, mls Hkkstu  nksA
(c) tks fHk[kkjh Hkw[kk gS] mls Hkkstu nksA
(d) fHk[kkjh Hkw[kk gS vkSj mls Hkkstu nksA

67. fefJr okD; NkaVks
(a) ml cPps us dgkuh lquhA
(b) og chekj gS blfy, fo|ky; ugha x;kA
(c) lkgc ckgj x, gSaA
(d) firkth us crk;k fd vkt gesa cktkj tkuk gSaA

68. la;qDr okD; NkaVdj fy[kksA
(a) izkr%  lw;kZZZZZsZn; gqvk vkSj i{kh  pgpgkus yxsA
(b) os lHkh fp=k fcd x,A
(c) tSls gh 'kke gqbZ] og pyh xbZA
(d) tSlk djksxs] oSlk HksjksxsA

69-73. mDr i|ka'k ds vk/kj ij fuEufyf[kr iz'uksa ds
mÙkj nhft,A
;g n'kZu dk ns'k] cqf¼] oSHko dk ?kj gS
ubZ lt̀u csyk esa bldk :i l¡okjksA

dksfV&dksfV tux.k eu dh vk'kk dks le>ks
mBks] vkt 'kks"k.k] ihMk dks fiQj yydkjksA

cnyks bldk :i] cny nks NUn iqjkuk
vkt u;k gks xhr] vkt fuekZ.k u;k gSA

69. mDr x|ka'k dk mfpr 'kh"kZd gS
(a) lt̀u&osyk
(b) u;k xhr % u;k Nan
(c) 'kks"k.k dh ihM+k
(d) n'kZu dk ns'k

70. gekjs ns'k dh fo'ks"krk gSA
(a) dksfV&dksfV tu&lewg gSA
(b) 'kks"k.k dh ihM+k ls =kLr gSA
(c) n'kZu dk ns'k]  cqf¼] oSHko dk ?kj gSA
(d) eu dh vuUr  vk'kk,¡ gSaA

71. i|ka'k esa fufgr lUns'k gS
(a) n'kZu dk lUns'k
(b) lt̀u dk lUns'k
(c) vk'kk dk Loj
(d) ØkfUr dk Loj

72. dfo us fdlds fo#¼ ØkfUr djus dh ckr dgh gS\
(a) 'kks"k.k (b) NUn ds
(c) lt̀u ds (d) uo&fuekZ.k

73. ^cny nks NUn iqjkuk* ls dfo  dk vk'k; gS
(a) eqDr NUn dk leFkZuA
(b) 'kks"k.k dk fojks/A
(c) fuekZ.k dk LojA
(d) izkphu #f<+;ksa ds LFkku ij uo&laLÑfr dk fuekZ.kaa

74. ioZr 'kCn dkSu lh laKk dks n'kkZrkk gS\
(a) O;fDrokpd laKk
(b) tkfrokpd LkaKk
(c) Hkkookpd laKk
(d) nzO;okpd LkaKk

75. FkdkoV 'kCn dkSulh laKk  dks n'kkZrk gS\
(a) O;fDrokpd laKk
(b) tkfrokpd LkaKk
(c) Hkkookpd laKk
(d) nzO;okpd LkaKk

76. HkhM 'kCn dkSu lh laKk dks n'kkZrk gS\
(a) O;fDrokpd laKk
(b) tkfrokpd LkaKk
(c) leqnk;okpd laKk
(d) nzO;okpd LkaKk

77. dqrqc ehukj 'kCn dkSulh laKk dks n'kkZrk gS\
(a) O;fDrokpd laKk (b) tkfrokpd LkaKk
(c) Hkkookpd laKk (d) nzO;okpd LkaKk
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78. vkS/h [kksiM+h dk gksuk
(a) csodwiQ gksuk
(b) csdkj gksuk
(c) vdyean gksuk
(d) mijksDr esa ls dksbZ ugha

79. dq,a esa ckal Mkyuk
(a) ikuh xank djuk
(b) csodwfiQ;ka djuk
(c) cgqr [kkstchu djuk
(d) fdlh ds ekeys esa n[ky nsuk

80. pkanh dk twrk ekjuk
(a) csbTtrh djuk
(b) bTtr nsuk
(c) fj'or nsuk
(d) mijksDr esa ls dksbZ ugha

(v) Test of Language : English

(v) Hkk"kk ijh{k.k % vaxzsth

Q. 81 to Q. 85 :
At this stage of civilisation, when many  nations are
brought in to close and vital contact for good and evil,
it is essential, as never before, that their gross
ignorance of one another should be diminished,  that
they should begin to understand a little of one
another's historical experienc and resulting mentality.
It is the fault of the English to expect the people of
other countries to react as they do, to political and
international situations. Our genuine goodwill and
good intentions are often brought to nothing, because
we expect other people to be like us. This would be
corrected if we knew the history, not necessarily  in
detail but in broad outliens, of the social and political
conditions which have given to each nation its present

character.
81. According to the author of 'Mentality' of a nation

is mainly product of its
(a) Present character
(b) International position
(c) Politics
(d) History

82. The character of a nation is the result of its
(a) gross ignorance
(b) cultural heritage
(c) socie-political conditions
(d) mentality

83. The need for a greater understanding between

nations

(a) is more today than  ever before
(b) was always there
(c) is no longer there
(d) will always be there

84. Englishmen like others to react to political

situatons like

(a) Others (b) Us
(c) Themselves (d) Each other

85. According to the author his countrymen should

(a) read the story of other nations.
(b) not react to other actions.
(c) have a better understanding of other

nations.
(d) have vital contacts with other nations.

86. Find the error in the following sentence.
(A)They appointed/ (B) him as a manager/ (C)

as he is/ (D) afficient

(a) A (b) B
(c) C (d) D

87. Which of the following sentence has error?

(a) When the dentist came in
(b) My tooth was stopped aching
(c) Out of fear that I might lose my both
(d) No error

88. A woman came in with a baby who, she said,

____ a safety pin.

(a) was just swallowing
(b) swallowed
(c) had just swallowed
(d) just swallowed

89. She _____ Rs. 80 out of the bank every Friday.

(a) Obtains (b) Draws
(c) Pulls (d) Extracts

90. The American ____ presented his  credentials

to the President of India.

(a) Adviser (b) Ambassador
(c) Delegate (d) Representative

91. Ordered the sentence:
S1 : Smoke oozed up between the planks.
P : Passengers were told to be ready to quit the ship.
Q : The rising gale fanned the smouldering fire.
R : Everyone now knew there was fire on board
S : Flames broke out  here and there.
S6 Most people bore the shock bravely.
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The Proper sequence should be

(a) QPSR (b) RSPQ

(c) SRQP (d) QSRP

92-95 :.

Some parts of the sentences in the passages below
are left blank. Fill them with the best alternative.

(92____) THe demand for residential and commercial
real estate in the city in (93____), though it has slowed
down lately due to the weak economy. The huge
demand and potential for development has (94____)
many real estate developers, and the city is today
(95____) different project-ranging from huge

townships.

92. (a) Immediatley (b) Constantly

(c) Consequently (d) Currently

93. (a) very high (b) massive

(c) exorbitant (d) immense

94. (a) Attracted (b) Invited

(c) Inspired (d) Called

95. (a) Observing

(b) Watching

(c) A home to

(d) Witnessing

96-97:
In the given questons four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses
the meaning of idiom/phrase.
96. Sobhraj could be easily arrested because the

police were tipped off in a advance.

(a) Toppled over
(b) Bribed
(c) Given advance information
(d) Threatened

97. I met him after a long time, but the gave me the

cold shoulder.

(a) scolded me (b) insulted me
(c) abused me (d) ignored me

98. Synonymous of GALL

(a) Sullen (b) Blessed
(c) Irritate (d) Necessary

99. Antonymous of ACCEPT

(a) Followed (b) Noted
(c) Provided (d) Rejected

100. Antonymous of ANGER

(a) Party (b) Happiness
(c) Love (d) Approval
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SECTION - B
Post Specific Subject-Related Questions

Hkkx & c
iksLV LisflfiQV fo"k; & laca/h iz'u

101. The process of finding out the resultant force is
called

ifj.kkeh cy irk djus dh izfØ;k dks dgrs gSa
(a) Resolution/fo;kstu
(b) Superposition/vf/LFkkiu
(c) Composition/la;kstu
(d) Transition/LFkkukarj.k

102. The angle of inclination of the plane at which
the body begins to move down the place is called

lery dk vkufr dks.k ftl ij ,d fi.M lery
uhps dh vksj tkus dks vkjEHk djrk gS] mls dgrs gSa
(a) Angle of friction/?k"kZ.k dks dks.k
(b) Angle of repose/foJke dk dks.k
(c) Angle of projection/iz{ksi.k dk dks.k
(d) None of the above/Åijh dksbZ ugha

103. As per the Indian Standard soil classification
system, a sample of silty clay with liquid limit of
40% and plasticity index of 28% is classified as

feV~Vh oxhZdj.k i¼fr ds Hkkjrh; ekuds ds vuqlkj
40% nzo lhek vkSj 28% lquE;rk vfHklwpd okyh
xknHkjh fpduh feV~Vh dks ,sls oxhZÑr fd;k tkrk gS
(a) CH (b) CI
(c) CL (d) CL-ML

104. A rectangular open channel of width 5.0 m is
carrying a discharge of 100 m/s. The Froude
number of the flow is 0.8. The depth of flow (in m)
in the channel is

,d 5-0 pkSMh [kqyh ugj 100 eh-@ls- dh fjgkbZ djrh
gSA cgko dk izkSM+ uEcj 0-8 gSA ugj esa cgko dh
xgjkbZ (eh- esa) gS
(a) 4 (b) 5
(c) 16 (d) 20

105. The ratio of actual evapo-transpiration to
potential evapo-transpiration is in the range

okLrfod ok"iksRltZu vkSj lEHkkO; ok"iksRltZu ds vuqikr
dh lhek bl chp gksrh gS
(a) 0.0 to 0.4/0.0 ls 0.4

(b) 0.6 to 0.9/0.0 ls 0.4

(c) 0.0 to 0.9/0.0 ls 0.9

(d) 1.0 to 2.0/1.0 ls 2.0

106. Road roughness is measured using

lM+d dk [kj[qjkiu bldk mi;ksx dj ukirs gSa
(a) Benklman beam/csUdyeu fdj.k
(b) Bump integrator/mHkkj lekdyd (cEi baVsxzsVj)
(c) Dynamic cone penetrometer/Mkbukfed dksu

isusVªksehVj
(d) Falling weight deflectometer/fxjrk Hkkj

fMÝysDVksehVj
107. Which of the following errors can be eliminated

by reciprocal measurements in differential
leveling?
I. Error due to earth's curvature
II. Error due to atmospheric-refraction

vUrjh; leryu esa ikjLifjd ekiu ls fuEu esa ls
dkSulh xyfr;k¡ nwj dh tk ldrh gSa\
I. feV~Vh dh xksykbZ ds dkj.k gksusokyh xyrh
II. okrkoj.kh;& viorZu ds dkj.k gksus okyh xyrh
(a) Both I and II/ I vkSj II nksuksa
(b) I only/dsoy I

(c) II only/dsoy II

(d) Neither I nor II/I ;k II nksuksa ugha
108. A force, when, applied to a body having mass 1

kg and giving it a acceleration of 1m/sec., is
known as

tc 1 fdxzk- nzO;eku okys fi.M dks cy  dk iz;ksx
dj 1 eh-@ls- dk Roj.k fn;k tkrk gS] mls dgrs gSa
(a) 1 Dyne/1 Mbu
(b) 1 Newton/1 U;wVu
(c) 1 Poundal/1 ikmaMy
(d) All the above/Åijh lHkh

109. Which of the following are correct units of
impulse?

fuEu esa ls dkSulh vkosx dh lgh bdkbZ gS\
(a) Gm-cm/sec (b) Kg-m/sec
(c) Dyne-sec (d) All the above

110. If three forces acting at a point are in
equilibrium, then ratio of the force to the since
of opposite angle is constant, only it, all the
forces are

;fn ,d fcUnq ij dk;Z djus okys rhu cy lkE;koLFkk
esa gSa] rc cy vkSj fo#¼ dks.k ds lkbu dk vuqikr
fLFkj jgrk gS] ;fn dsoy lHkh cy gksrs gSa
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(a) In wards/vkUrfjd
(b) Out wards/ckÞ;
(c) Can be both/nksuksa gks ldrs gSa
(d) None of the above/Åijh dksbZ ugha

111. Moment of a couple about any point in space is
always

vUrfj{k esa fdlh fcUnq ds lehi ;qXe dk vk?kw.kZ ges'kk
gksrk gS
(a) Different/vyx
(b) Same/,d tSlk
(c) Both the above/Åijh nksuksa
(d) None of the above/Åijh dksbZ ugha

112. The frictional force which prevents one body
from sliding on another is known as

,d fi.M ls nwljs fi.M ls fiQlyus ls jksdus okys
?k"kZ.kh; cy dks dgrs gSa
(a) static friction/fLFkr ?k"kZ.k
(b) Kinetic friction/xfrt ?k"kZ.k
(c) Cone of friction/?k"kZ.k dks dks.k
(d) None of the above/Åijh dksbZ ugha

113. Which of the following is correct expression for
centripetal force?

dsUnzfHklkjh cy dh fuEu esa dkSulh lgh vfHkO;fDr gS\
(a) m × v2/r
(b) m × r2

(c) Both the above/Åijh nksuksa
(d) None of the above/Åijh dksbZ ugha

114. Which of the following are known as silicious
rock?

fuEu esa ls fdls flfydk; pV~Vku dgrs gSa\
(a) Slate/LysV
(b) Limestone/pwuk&iRFkj
(c) Laterites/e[kjyk
(d) Granite/xzsukbV

115. Which of the following have less unit weight?

fuEu esa ls fdl bdkbZ otu de gksrk gsS\
(a) Granite/xzsukbV
(b) Sand stone/cyqvk iRFkj
(c) Marble/laxejej
(d) Basalt/vflrk'e

116. Stone in buildiing work can be used for which of
the following components?

bekjrh dke ds iRFkj fuEu esa ls fdl ?kVd ds fy,

mi;ksx fd;s tk ldrs gSa\
(a) Foundation/uhao
(b) Wall and Coloums/nhokj vkSj LraHk
(c) Arches and Lintel/pki vkSj ljny
(d) All the above/Åijh lHkh

117. A test, to find out the rate of wear of stone used
in road construction is known as

lM+d fufeZrh esa iRFkj ds f?klko dk nj ekywe djus
ds fy, fd;s x;s ijh{k.k dks dgrs gSa
(a) Crushing test/filkbZ ijh{k.k
(b) Impact test/la?kkr ijh{k.k
(c) Attrition test/jxM+ ijh{k.k
(d) Hardness test/dM+kbZ ijh{k.k

118. The brick which is light in weight, reduce the
transmission of heat, sound and dampness, is
known as

tks bZaV otu esa gydh gksrh gS] Å"ek lapj.k èofu vkSj
ueh de djrh gS] mls dgrs gSa
(a) Hollow brick/[kks[kyh bZaV
(b) Cavity trick/dksVj bZaV
(c) Cellular brick/dksf'kdh; bZaV
(d) All the above/Åijh lHkh

119. Properties of steel can be altered by

bLikr ds xq.k/eZ esa bl izdkj cnyko yk;k tk ldrk gS
(a) Structual treatment/lajpuk vfHkfØ;k
(b) Heat treatment/Å"ek vfHkfØ;k
(c) Both the above/Åijh nksuksa
(d) none of the above/Åijh dksbZ ugha

120. The slope of tensile stress-strain diagram
represents

ruu nkc& ruko ds vkjs[k esa <ky n'kkZrh gS
(a) Modulus of rupture/iQVu dk ekikad
(b) Modulus of elasticity/yksp dk ekikad
(c) Tenacity/n`<+rk
(d) Ductility/rU;rk

121. The structural member which can carry
compressive force only is known as

lajpuk dk ?kVd tks dsoy lEihMd cy gksrk gS] mls
dgrs gSa
(a) Tie/cU/u
(b) Channel/iz.kky
(c) Strut/Vsd
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(d) None of the above/Åijh dksbZ ugha
122. Factor of safety is employed to keep the working

stress

lqj{kk dk ?kVd dk mi;ksx dk;Z nkc dks
(a) Below the elastic limit/rU;d lhek ls uhps j[kuk gS
(b) Below the proportional limit/lkis{k lhek ls

uhps j[kuk gS
(c) Below the yield point/izkfIr fcUnq ls uhps j[kuk gS
(d) Between elastic limit and proportional limit

rU;d lhek vkSj lkis{k lhek ds chp j[kuk gS
123. The value of Poisson ratio is generally not greater

than

ikW;lu vuqikr dk ewY; lkekU;r% blls vf/d ugha
gksrk
(a) 0.05 (b) 1
(c) 0.5 (d) 1.5

124. The stress in any fibre in a beam subjected to
bending depends upon

/ju(che) ds fdlh Hkh lw=k esa ftls >qdk;k x;k gS]
mldk ruko bl ij fuHkZj djrk gS
(a) Distance of fibre from neutral axis

mnklhu v{k ls lw=k dh nwjh
(b) Radius of curvature of neutral axis

mnklhu v{k ds xksykbZ dh f=kT;k
(c) Elasticity/ypd
(d) none of the above/Åijh dksbZ ugha

125. If a small concrete cube is submerged deep in
still water in such a way that the pressure
exerted on all faces of the cube is p, then the
maximum shear stress developed inside the
cube is

;fn dkafØV ds ,d NksVs /u dks fLFkj ikuh esa bl rjg
Mqck;k tkrk gS fd ?ku ds lHkh iQydksa ij Mkyk x;k
nkc P gSA ,sls esa ?ku ds Hkhrj fodflr gqvk izfrcy
ruko gS
(a) 0 (b) p/2
(c) 2p (d) p

126. In a steel plate with bolted connections, the
rupture of the net section is a mode of failure
under

cksYV ls tksMs x;s bLikr dh IysV esa tky ds Hkkx esa
iQVu ;g blds varxZr [kjkch dh iz.kkyh gS
(a) Tension/ruko (b) Compression/nckc
(c) Flexure/u;u (d) Shear/izfrcy

127. The main constituent of Portland cement is
_________.

iksVZySaM flesUV dk eq[; ?kVd gS
(a) Lime/pwuk
(b) Alumina/,Y;qfeuk
(c) Iron oxide/yksg vkWDlkbM
(d) Magnesium oxide/eSxusf'k;e vkWDlkbM

128. Coefficient of friction of road surface decreases
on

lM+d dh lrg dk ?k"kZ.k xq.kkad ?kVrk gS tc
(a) decrease in load/Hkkj de gksrk gS
(b) temperature rise/rkieku c<+rk gS
(c) depleted tyre pressure/Vk;j dk nkc de jgrk gS
(d) none of the above/Åijh dksbZ ugha

129. To orient a plane table at a point with two
inaccessible points, the method generally
adopted is

,d lery Vscy dks nks vxE; fcUnqvksa ds lkFk ,d
fcUnq ij vuqLFkkiu djus ds fy, lkekU;r% viukus
tkusokys i¼̀fr gS
(a) Intersection/izfrPNsnu
(b) Resection/mPNsnu
(c) Radiation/fofdj.k
(d) Two point problem/nks fcUnq leL;k

130. The vertical angle between longitudinal axis of
a freely suspended manetic needle and a
horizontal line at its pivot is known as

,d eqDrrkls yVdh gqbZ lqbZ vuqyEc v{k vkSj dsUnz
fcUnq ij vuqizLFk js[kk ds chp ds vuqyEc dks.k dks
dgrs gSa
(a) Declination/fopyu
(b) Azimuth/fnxa'k
(c) Dip/>qdko
(d) Bearing/fn'kkdks.k

131. Which of the following pump is successfully used
for lifting water to turbines?

VckZbu ds fy, ikuh dks p<kus ds fy, fuEu esa ls
dkSuls iEi dk liQyrkiwoZd mi;ksx fd;k tk ldrk gS\
(a) centrifugal/vidsUnzh
(b) reciprocating pump/izfrdkj iEi
(c) jet pump/tsV iEi
(d) air lift pump/ok;q mRRkksyu iEi

132. In limitj state of collapse in flexure, the ultimate
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strain in concreate is limited to

vkufr esa lekfIr dh lhek fLFkfr esa] dkafØV esa vfUr
ruko ;gk¡ rd lhfer gS
(a) 0.002 (b) 0.0035
(c) 0.003 (d) 0.0025

133. The percentage of alumina in a good brick clay
should may from

vPNs bZaV dh fpduh feV~Vh esa ,Y;wfeuk dk izfr'kr
gksuk pkfg,
(a) 20% – 30% (b) 30% – 40%
(c) 40% – 50% (d) 50% – 60%

134. The angle which  the resultant of frictional force
and normal force makes with the normal to the
sliding surface when it is on the verge of sliding
is called

lkekU; ls ljdok lrg tc og lihZ gksus ds eqdke is
gksrk gS blls ?k"kZ.kh cy vkSj lkekU; cy ls ijs'kkuh
dks.k dks dgrs gSa
(a) Angle of repose/foJke dk dks.k
(b) Angle of limiting friction/lhekUr ?k"kZ.k dk dks.k
(c) Angle of kinetic friction/xfrt ?k"kZ.k dk dks.k
(d) none of the above/Åijh dksbZ ugha

135. The ratio of different ingredients (cement, sand,
aggrate) in concrete mix of grade M20, is

Js.kh d
(a) 1 : 1 : 2 (b) 1 : 15 : 3
(c) 1 : 2 : 4 (d) 1 : 3 : 6

136. The centre of gravity of a right circular solid cone
of height 'h' measured along the vertical axis, is
at distance of

vuqyEc ds lehi ekis x;s h Å¡pkbZ ds lh/s o`Ùkkdkj
Bksl 'kadq dk xq#Roeèj; bl nwjh ij jgrk gS
(a) h/2 (b) h/3
(c) h/4 (d) h/6

137. "If three forces acting at a point are in equibrium,
then each force is proportional to the sine of
the angle between the other two". This theorem
statement is

^^;fn ,d fcUnq ij dk;Z djus okys rhu cy lUrqyu
esa gSa] rks gj cy ckdh nks cyksa ds chp ds dks.k ds
lkbu (sine) ds lekuqikrh gksrk gS** ;g fl¼kar dFku gS
(a) Principle of transmissibility/lapk;Zrk dk fl¼kUr
(b) Lami's theorem/yWeh (Lamis') dk fl¼kUr
(c) Parallel axis theorem/lekukarj v{k fl¼kUr
(d) None of the above/Åijh dksbZ ugha

138. The deformation produced in a body when
subjected to a direct load equal to weight of the
boyd, and the deformation produced due to own
weight of the bar are

fi.M ds otu ds gh ftrus lh/s Hkkj dks nsu  ls fi.M
esa mRiÂ gksus okyk fo#i.k vkSj ckj ds vius gh otu
ls mRiÂ gksus okyk fo#i,k gksrs gSa
(a) Equal/,d leku (b) Half/vk/k
(c) Double/nqxquk (d) Thrice/frxquk

139. When a body is subjected to a direct tensile
stress () in one  plane, then maximum normal
stress occurs at a section inclined  at an angle 
to the normal of the section, where  is

,d lery esa tc fi.M dk lh/k ruu ruko ()
fn;k tkrk gS] rc [k.M ds lkekU; ls  dks.k ls >qds
gq, [k.M ij vf/dre lklekU; ruko ?kfVr gksrk gS]
tgk¡ gS
(a) 30° (b) 0°
(c) 45° (d) 90°

140. When a body is strained within elastic limit, the
energy stored is known as

tc fi.M dks izR;LFk lhek ds Hkhrj d"VdfYir fd;k
tkrk gS] rc laxzfgr ÅtkZ dks dgrs gSa
(a) Resilience/yksp
(b) Proof resilience/vHks| yksp
(c) Potential energy/fLFkfrt ÅtkZ
(d) Strain energy/ruko ÅtkZ

141. Drift method of tunneling is used to construct
tunnels in

lqjax (Vusy) cukus ds fy, fMªÝV i¼fr bl le;
mi;ksx djrs gSa
(a) Soft grounds/uje tehu
(b) Rocks/pV~Vku
(c) Self-supporting grounds/vkRe fuHkZj tehu
(d) Broken grounds/VwVh gqbZ tehu

142. The bending moment at fixed end of a cantilever
beam of length 'L' and carrying a gradually
varying load from zero at free end and 'w' per
unit length at fixed end is

L yEckbZ dh =kkl /ju tks vius  eqDr vUr ls 'kwU; ls
/hjs /hjs fofo/ Hkkj ysrh gS vkSj mlds fLFkj vUr ij
gj bdkbZ yEckbZ ij W Hkkj gS rks] fLFkj vUr ij ueu
vk?kw.kZ gksxk
(a) wL2/2 (b) wL2/4
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(c) wL2/6 (d) zero
143. Lug angles are

idM dks.k gksrs gSa
(a) Provided to take heavy moments

cM+h ek=kk ds vk?kw.kZ dks ysus ds fy, eqg;k fd;s
tkrs gSa

(b) Angles to reduce the length of connection

la;kstu dh yEckbZ ?kVkus ds fy, yxk;s x;s dks.k
(c) Angle with bulb on one leg

,d ik;k ij cYc okyk dks.k
(d) Angles subjected to reversal of stresses

ruko ds izfrorhZ izHkko esa vkus okyk dks.k
144. Column splices are assumed to be

LrEHk tksM+ ekus tkrs gSa
(a) Short columns/y?kq LrEHk
(b) Long columns/yEcs LrEHk
(c) Intermediate columns/eè;e LrEHk
(d) none of above/Åijh dksbZ ugha

145. A vertical plate of a plate girder is called

IysV fxMZj (/ju) ds vuqyECk IysV dks dgrs gSa
(a) Web plate/osc IysV
(b) Flange plate/dksj IysV
(c) Cover plate/doj IysV
(d) None of the above/Åijh dksbZ ugha

146. Glacial soils are those which are

fgekuh feV~Vh gksrh gS
(a) Deposited in sea water/lkxj ds ikuh esa fu{ksfir
(b) Deposited at the bottom of lakes/ljksoj ds

ry esa fu{ksfir
(c) Transported by running water/pyrs ikuh ls

ifjofgr
(d) None of the above/Åijh dksbZ ugha

147. The maximum size of the parties of  clay is about

fpduh feV~Vh ds d.k dk vf/dre vkdkj gksrk gS
yxHkx
(a) 0.0002 mm (b) 0.002 mm
(c) 0.02 mm (d) 0.2 mm

148. The approximate void ratio is sandy soils is

cyqvk feVVh esa fjDr vuqikr gksrk gS yxHkx
(a) 0.2 (b) 0.3
(c) 0.6 (d) 1.2

149. Darcy's law is valid only if the flow is

MkflZ dk fu;e ykxw gksrk gS dsoy ;fn cgko gksrk gS

(a) Turbulent/fo{kqC/
(b) Due to water/ikuh dh otg ls
(c) Laminar/iVyh
(d) Intermittent/fcjkeh

150. Compaction of soil is measured in terms of

feV~Vh dk Bksliu blds vk/kj ij ukik tkrk gS
(a) Dry density/'kq"d ?kuRo
(b) Specific gravity/fof'k"V xq#Ro
(c) Compressibility/lEihM;rk
(d) Permeability/ikjxE;rk

151. In a lift moving with certain acceleration, tension
in the cable supporting the lift is more when the
lift is moving

tc ,d fyÝV fof'k"V Roj.k ls pyrh gS rc mls
lgkjk nsusokyh dscy ij ruko vf/d gksxk tc og
fyÝV pyrh gS
(a) upwards/Åij dh vksj
(b) downwards/uhps dh vksj
(c) both upwards and downwards/Åij vkSj uhps

nksuksa vksj
(d) none of th above/Åijh dksbZ ugha

152. When a body is subjected to three mutually
perpendicular stresses of equal intensity, the
ratio of direct stress to the corresponding
volumetric strain is known as

tc ,d fi.M ij rhu ,d leku rhozrk okys ikjLifjd
izfryEc ruko fn;s tkrs gSa] rc lh/k ruko vkSj vuq#i
vuqekih ruko ds vuqikr dks dgrs gSa
(a) Poisson's Ratio/ikW;lu dk vuqikr
(b) Bulk Modulus/cYd ekMwyl (cYd ekikad)
(c) Young's Modulus/;ax dk ekiakad
(d) Modulus of Rigidity/vuE;rk dk ekikad

153. The latitude of a given place is zero on

fdlh Hkh fn;s x;s LFky dk v{kka'k ;gk¡ 'kwU; gS
(a) Nadir side/v/ksfcUnq lrg
(b) Zenith side/f'kjksfcUnq lrg
(c) Equator/Hkweè; js[kk
(d) Anywhere/dgha Hkh

154. A lift moves downwards with an acceleration of
9.81 m/s2. The pressure exerted by a man of
weight 600 N on the floor the lift is

,d fyÝV 9.81 m/s2 Roj.k ls uhps vksj pyrh gSA
600 N otu okys vkneh }kjk fyÝV ds d'kZ ij fn;k
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x;k nkc gksxk
(a) 9.81 N (b) Zero/'kwU;
(c) 19.62 (d) 4.95

155. A simply supported beam AB of span 'L' carries
a uniformly varying load over the entire span,
varying from zero intensity at end B to 'w' per
unit length at end A. The shear force at B is

B fljs ij 'kwU; dh rhozrk ls cnyrs gq, A fljs ij w

izfr bdkbZ yEckbZ dk cnyrk Hkkj vius lEiw.kZ pkSM+kbZ
L ij ysusokyh ,d lkekU;r% Fkke j[kh gqbZ /ju (che)
gSA B ij nckc cy gS
(a) wL/6 (b) wL/3
(c) 2 wL/3 (d) 2 wL

156. About an axis perpendicular to the circular
section, moment of inertia is given by

o`Ùkkdkj [k.M ls vuqyEc v{k ds lehi tMRo vk?kw.kZ
dks bl izdkj fn;k tkrk gS
(a) d3/16 (b) d4/32
(c) d3/32 (d) d3/64

157. Two fixed beams A and B are having same span
'L'. Beam b carries a central point load 'W' and
beam A carries an uniformly distributed load
such that the total load on beam B is 'W'. The
ratio of maximum deflections between beams
A and B is

nks fLFkj /ju A vkSj B dk foLrkj ,d tSlk L gSA
B /ju dsUnz fcUnq Hkkj W mBkrh gS vkSj /ju A ,d
leku forfjr Hkkj bl izdkj mBkrh gS fd B ij iwjk
Hkkj W iMrk gSA /ju A vkSj B ds chp ds vf/dre
foLFkkiu dk vuqikr gS
(a) 1 (b) 2
(c) 3 (d) 4

158. The ratio of Young's modulus to Bulk modulus
for a Posson's ratio of 0.25 is

0-25 ds ikW;lu ds vuqikr ds fy, ;ax ds ekikad dk
cYd ekikad ls vuqikr gksxk
(a) 1/3 (b) 2/3
(c) 1 (d) 3/2

159. In the limit state design for flexure, the area of
the stress block for concrete is

vkueu ds fy, lhek fLFkfr cukoV esa dkafØV ds fy,
ruko Cykd dk {ks=k gS
(a) 0.36 f

ck
 X

u
(b) 0.42 f

ck
 X

u

(c) 0.48 f
ck

 X
u

(d) 0.53 f
ck

 X
u

160. If a two way slab is found to be unsafe in shear,

which of the followings would you recommend?

;fn nks rjiQk LySc nckc ds fy, vlqjf{kr ekuk tkrk
gS] rks fuEu esa ls fdldh fliQkfjf'k dh tk;sxh\
(a) Provide shear stirrups/nckc jdkc eqgÕ;k
(b) Increase diameter of longitudinal

reinforcement/vuqyEc izcyu dk O;kl c<+kuk
(c) increase the thickness of slab/LySc dh eksVkbZ

c<+kuk
(d) None of the above/Åijh dksbZ ugha

161. Equilibrant is a force

lUrqyd og cy gS
(a) Which brings a body in equilibrium

tks fi.M dks lUrqyu esa ykrk gS
(b) Which moves the body along the resultant

force/tks fi.M dks ifj.kkeh cy ds lkFk lapkfyr
djrk gS

(c) In zig-zag movement of the body/tks fi.M ds
VsMs&es<s lapyu esa gksrk gS

(d) Which moves the body in opposite direction

to equilibriant force/tks lUrqyd cy esa fo#¼
fn'kk esa fi.M dks lapkfyr djrk gS

162. The most common method of pre-stressing for
mass production in the factory is

iQSDVjh esa cgqek=k&mRiknu ds fy, iwoZ&izfrcy dh
vfrlkekU; i¼fr gS
(a) Freyssinet method/fÚflusV i¼fr
(b) Long line method/ykWUx ykbu i¼fr
(c) MagnelBlaton method/eWXusyCysVu i¼fr
(d) None of the above/Åijh dksbZ ugha

163. The soil transported by running water is called

cgrs ikuh ds lkFk ifjogu dh xbZ feV~Vh dks dgrs gSa
(a) Alluvial (b) Marine
(c) Aeolian (d) Lacustrine

164. The uniformity coefficient is defined as the ratio
of

,d lekurk xq.kkad dks bl vuqikr ls ifjHkkf"kr fd;k
tkrk gS
(a) D

10
 to D

20
/D

10
 ls D

20

(b) D
30

 to D
40

/D
30

 ls D
40

(c) D
60

 to D
10

/D
60

 ls D
10

(d) D
50

 to D
30

/D
50

 ls D
30

165. The permeability of a given soil is

fdlh Hkh feV~Vh dh ikjxE;rk gksrh gS
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(a) Directly proportional to the average grain

size/vkSlr d.k ds vkdkj ls lh/s lekuqikrh
(b) Inversely proportional to the average grain

size/vkSlr d.k ds vkdkj ls O;qRØekuqikrh
(c) Directly proportional to the square of the

average grain size/vkSlr d.k ds oxkZdkj ls
lh/s lekuqikrh

(d) Inversely proportional to the square of the

average grain size/vkSlr d.k ds oxkZdkj ls
O;qRØekuqikrh

166. The possibility of quick sand  condition will be
there when flow of water to soil is

cyqvknyny fLFkr dh laHkkouk ogk¡ gksxh tgk¡ tehu
ls ikuh dk cgko gksrk gS
(a) Horizontal/vuqyEc
(b) Upwards/vèoZxkeh
(c) Downloads/v/ksxkeh
(d) Radial/vjh;

167. Optimum moisture content is the moisture
content at which

vkn'kZ ueh ek=kk og ueh dh ek=kk gksrh gs ftl ij
(a) Settlement is maximum//¡lu vf/dre gksrh gS
(b) Permeability is more/ikjxE;rk vf/d gksrh gS
(c) Dry density is maximum/'kq"d ?kuRo vf/dre

gksrk gS
(d) shear strength is less/nckc cy de gksrk gS

168. With regards to radius of curvature of an ideal
transition curve, which of the following
statements is correct?

vkn'kZ laØe.k oØ ds xksyk¼Z dh f=kT;k ds lUnHkZ esa
fuEu esa ls dkSulk dFku lgh gsS\
(a) It inversely proportional to the main cirular

eq[; o`Ùkh; oØ ls og O;qRØekuqikrh gksrk gS
(b) It is constant throughout the length of the

curve/oØ dh iwjh yEckbZ esa og fLFkj jgrk gS
(c) It is inversely proportional to its distance

from point of tangency/og Lif'kZrk ds fcUnq ls
nwjh ls O;qRØekuqikrh gksrk gS

(d) It is directly proportional to the longitudinal

section of the curved portion/oØfr Hkkx ds
vyqyEc [k.M ls og lh/s lekuqikrh gksrk gS

169. The till displacement is an aerial photograph is
radii from

vkdk'kh Nk;kfp=k esa vkufr foLFkkiu gksrk gS

(a) Isocentre point/lesdsUnzh; fcUnq
(b) Nadir Point./v/ks fcUnq
(c) Principal point./eq[; fcUnq
(d) Plumb point./yEc fcUnq

170. A reinforced concrete beam will crack. If tensile
stress set up in the concrete below the neutral
axis is

og izcfyr dkafØV LySc esa njkj iM+sxh ;fn mknklhu
v{k ds uhps cuk;k x;k ruu izfrcy gksrk gS
(a) Less than permissible stress/vuqer izfrcy ls

de
(b) More than permissible stress/vuqer izfrcy

ls vf/d
(c) Equal to permissible stress/vuqer izfrcy ds

cjkcj
(d) Anyone of the above/Åijh dksbZ ugha

171. Reinforcement for torsion is provided in the form
of

,saBu ds fy, izcyu bl :i esa fn;k tkrk gS
(a) Longitudinal reinforcement only/d soy

vuqyEc izcyu
(b) Both longitudinal and shear reinforcement

vuqyEc vkSj izfrcy izcyu nksuksa
(c) Shear reinforcement only/dsoy izfrcy izcyu
(d) None of the above/Åijh dksbZ ugha

172. The wire mesh provided at the corners of a two
way slab

nks rjiQk LySc ds dksuksa esa eqgÕ;k dh xbZ rkj dh tkrh
(a) Controls cracking of corners/dksuksa esa njkj vkus

ls jksdrh gS
(b) Prevents corners from lifting/dkuks dks Åij

dh vksj mBus ls jksdrh gS
(c) Distributes bending moment uniformly/eksM

vk?kw.kZ dks ,d leku forfjr djus ds fy,
(d) None of the above/Åijh dksbZ ugha

173. Theory of thin cylinder is used to design surface
tank walls of

irys csyu dk fl¼kar dk mi;ksx bldh lrg VSad
nhokj dh cukoV eas gksrk gS
(a) Circular tanks with walls restrained at base

o`Ùkkdkj VSad ftldh nhokj ry esa lhfer gksrh gS
(b) Short walls of rectangular tanks/vk;rkdkj VSad

dh NksVh nhokjsa
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(c) Circular walls of rectangular tanks/ry esa uE;
tksM jgusokyk o`Ùkkdkj VSad

(d) None of the above/Åijh dksbZ ugha
174. In a two way rectangular reinforced footing, the

central band in long direction contains

nks rjiQk vk;rkdkj izcfyr uhao esa yEch fn'kk esa dsUnz
cUn esa gksrk gS
(a) More reinforcement/vf/d izcyu
(b) Twice the reinforcement in the short

direction/NksVh fn'kk ls nqxquk izcyu
(c) Less reinforcement/de izcyu
(d) None of the above/Åijh dksbZ ugha

175. In pre-stressed member, the Wobbie effect is
related with

iwoZ&izfrcy ?kVd esa okscy ifj.kke blls lEcfU/r
gksrk gS
(a) Creep of concrete/dkafØV dk liZ.k
(b) Frictional loss/?k"kZ.k {kfr
(c) Creep of steel/blikr dk liZ.k
(d) Shrinkage of concrete/dkafØV dk ladqpu

176. Flats are used as tension members in

lery Hkkx dk ruko ?kVd ds :i esa blls mi;ksx
gksrk gS
(a) Roof trusses/Nr dSaph
(b) Transmission towers/izlkj.k Vkoj
(c) Suspension bridges/izyacu iwy
(d) All the above/Åijh lHkh

177. An out of plane web distortion is known as

lery ds ckgj ds osc fo#i.k dks dgrs gSa
(a) Web Buckling/osc >qdko
(b) Vertical web buckling/vuqyEc osc lqdko
(c) Column buckling/LraHk >qdko (dkWye] odfyax)
(d) All of the above/Åijh lHkh

178. When a beam is connected to a stanchion by
means of two angles riveted to them, the
connection is known as

tc nks ,axyksa ls tdMdj Fkwuh ls /ju dks tksM+k tkrk
gS] rc bl la;kstu dks dgrs gSa
(a) Unstiffened seated connection/v&l[r cSBk

la;kstu
(b) stiffened seated connection/l[r cSBk la;kstu
(c) Framed connection/x<+k gqvk la;kstu
(d) None of the aboe/aÅijh dksbZ ugha

179. The ratio of volume of voids to total volume of
soil mass is called

fjfDr dh ek=k vkSj feV~Vh ds nzO;eku dh ek=k ds
vuqikr dks dgrs gSa
(a) Water content/ikuh dk va'k
(b) Porosity/laj/zrk
(c) Void ratio/fjfDr vuqikr
(d) Degree of saturation/lar`fIr dh ek=kk

180. Toughness index is the ratio of

dM+kbZ vfHklwpd ;g budk vuqikr gS
(a) Flow index and plasticity index/cg ko

vfHklwpd vkSj lquE;rk vfHklwpd
(b) Plasticity index and flow index/l quE;rk

vfHklwpd vkSj cgko vfHklwpd
(c) Liquidity index and flow index/nzoRo vfHklwpd

vkSj cgko vfHklwpd
(d) Flow index and liquidity index/cgko vfHklwpd

vkSj nzoRo vfHklwpd
181. As angle of internal friction '' increases,

coefficient of active earth pressure

tSls tSls vkUrfjd ?k"kZ.k dk dks.k  c<+rk gS oSls oSls
tehu ds lfØ; nkc dk xq.kkad
(a) increases/c<+rk gS
(b) Decreases/?kVrk gS
(c) Remains same/fLFkj jgrk gS
(d) None of the above/Åijh dksbZ ugha

182. The minimum depth of foundation for buildings
of clay is

fpduh feV~Vh dh bekjr dh uhao dh U;wure xgjkbZ
gksrh gS
(a) 0.2 to 0.4 m/0.2 ls 0.4 m

(b) 0.4 to 0.6 m/0.4 ls 0.6

(c) 0.6 to 0.9 m/0.6 ls 0.9 m

(d) 0.9 to 1.6 m/0.9 ls 1.6 m

183. Heading bond is usually used for

'kh"kZd cUn dks lkekU;r% blds fy, mi;ksx es ykrs gSa
(a) half brick wall/vk/h&bZaV nhokj
(b) one brick wall/,d&bZaV nhokjh
(c) one and half brick wall/Ms<+&bZaV nhokj
(d) two brick wall/nks&bZaV nhokj

184. In a stairs, the flier is

lh<+h esa lIyk;j gksrk gS
(a) a vertical portion of step providing a support

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping


1

B-1/8A  Yamuna  Vihar  Delhi - 110053,  Ph: 01140394447, 01143537689

Contact : 01140394447, 01143537689, 7840856786 19

to the tread/lksiku dk vuqyEc fgLlk tks pyus
esa lgk;rk iznku djrk gS

(b) a straight step having a parallel width of

tread/lh/k lksiku ftldk Åijh ry pkSMk vkSj
lekukarj gS

(c) the under surface of a stair/lksiku dh vnluh
lrg

(d) the angle which the line of nosing of stairs

makes with horizontal/lh<+h ds xksys dh js[kk
dk vuqizLFk dks.k

185. The type of masonry in which the stones of
irregular size and shapes are used and there are
no regular courses is known as

jkxxhjh dk og izdkj ftlesa vleku vkdkj vkSj eki
ds iRFkjksa dk mi;ksx gksrk gS vkSj fu;fer dklZ (ekyk)
Hkh ugha gksrh] mls dgrs gSa
(a) uncoursed rubble masonry/vudklZM~ jcy

jktxhjh
(b) coursed rubble masonry/dkslZM~  jcy jktxhjh
(c) random rubble masonry/jSaaMe jcy jktxhjh
(d) dry rubble masonry/'kq"d jcy jktxhjh

186. A type of brick masonry in which each course
consists of alternate header and stretchers is
called as

bZaV dh jktxhjh dk izdkj ftld ds gj ekyk esa ,d
ds ckn ,d gsMj vkSj LVªspj gksrk gS] mls dgrs gSa
(a) English bond/baxfy'k cUn
(b) Flemish bond/Ýysfeax cUn
(c) Stretching bond/LVsªsfpax cUn
(d) Heading bond/gsfMax cUn

187. The function of aggregates in concrete is to serve
as

dkafØV es feykos dk dk;Z gsS
(a) binding material/cka/usokyk nzO;
(b) filter/iwjd
(c) catalyst/mRizsjd
(d) all of these/;g lHkh

188. Which of the following ingredient of cement
when added in excess quantity, causes the
cement to set slowly?

flesaV dk fuEu esa ls dkSulk ?kVd gS] ftls vf/d
ek=kk esa feykus ls] flesaV /heh xfr ls terk gS\

(a) Lime/pquk
(b) Silica/flfydk
(c) Alumina/,Y;wfeuk
(d) Iron oxide/yksg vkWDlkbM

189. The inert material used for the manufacture of
mortars and concrete is

xkjk vkSj dkafØV ds mRiknu esa mi;ksx gksus okyk
fuf"Ø; nzO; gS
(a) cement/flesaV
(b) water/ikuh
(c) aggregate/feykok
(d) admixture/vf/feJ.k

190. Initial setting time for ordinary Portland cement
is

lkekU; iksVZySaM flesaV dk vkjfEHkd teus dk le; gS
(a) 15 min (b) 30 min
(c) 60 min (d) 10 h

191. The value of bulk density of aggregate depend
upon

feykus ds ifjek.k ?kuRo dk ewY; bl ij fuHkZj gksrk gS
(a) size distribution of aggregate/feykos dk vkdkj

forj.k
(b) shape of aggregate/feykos dk vkdkj
(c) specific gravity of aggregate/feykos dk fof'k"V

xq.kRo
(d) all of these/;g lHkh

192. Workability of concrete by slump test is
expressed as

voikr ijh{k.k ls dkafØV dh O;kogkfjdrk bl izdkj
crkbZ tkrh gS
(a) minutes/feuV (b) mm/h

(c) mm2/h (d) mm
193. A compaction factor 0.88 indicates that

workability of conrete mix is

0-88 l?kurkxq.kd n'kkZrk gS fd] dkafØV feDl dh
O;kogkfjdrk gS
(a) very low/cgqr fuEu
(b) low/fuEu
(c) medium/eè;e
(d) high/mPp

194. The conception of idea for any construction work
is the responsibility of

fdlh Hkh fuekZ.k dk;Z dh ;kstuk dh ladYiuk ;g
bldh foysokjh gS
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(a) owner/ekfyd (b) engineer/baftuh;j
(c) contractor/Bsdsnkj
(d) all of these/;g lHkh

195. Milestone chart is an improvement over

ekbyLVksu pkVZ ;g bl ij ,d lq/kj gS
(a) bar chart/ckj pkVZ
(b) PERT
(c) CPM

(d) all of these/;g lHkh
196. A Gantt chart indicates

xWUV pkVZ n'kkZrk gS
(a) balance of work done/fd;k tkus okyk dke
(b) efficiency of project/;kstuk dh dk;Z{kerk
(c) comparison of actual process with scheduled

process/fu/kZfjr izfØ;k vkSj okLrfodrk izfØ;k
dh rqyuk

(d) progress of project/;kstuk dh izxfr
197. PERT stands for

PERT dk eryc gS
(a) Program Estimation and Reporting

Technique
(b) Process Estimation and Review Technique
(c) Program Evaluation and Review Technique
(d) Planning Estimation and Review Technique

198. Alignment of road is finally decoded on the basis
of

lM+d dh fla/kbZ vUr esa bl vk/kj ij fMdksMsM dh
tkrh gS
(a) Selection of route/ekxZ dk p;u
(b) field survey/fiQYM losZ{k.k
(c) trace out/Vªsl dV
(d) none of these/buesa ls dksbZ ugha

199. The value of maximum gradient for the hill roads

igkM+h lM+d dh vf/dre <ky dk ewY; gS
(a) 1 in 5/5 esa 1 (b) 1 in 10/10 esa 1
(c) 1 in 15/15 esa 1 (d) 1 in 20/20 esa 1

200. An average value of coefficient of velocity is

osx xq.kkad dk vkSlr ewY; gksrk gS
(a) 0.62 (b) 0.76
(c) 0.84 (d) 0.97
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DSSSB COMMON PAPER 2021 (SET-01)

1. (b) 2. (a) 3. (c) 4. (d) 5. (b) 6. (a) 7. (b) 8. (c) 9. (b) 10. (a)
11. (c) 12. (a) 13. (c) 14. (b) 15. (c) 16. (c) 17. (a) 18. (d) 19. (c) 20. (b)
21. (c) 22. (a) 23. (c) 24. (d) 25. (b) 26. (c) 27. (d) 28. (a) 29. (d) 30. (d)
31. (c) 32. (d) 33. (b) 34. (a) 35. (b) 36. (a) 37. (a) 38. (c) 39. (b) 40. (b)
41. (d) 42. (a) 43. (a) 44. (b) 45. (a) 46. (b) 47. (d) 48. (b) 49. (a) 50. (c)
51. (a) 52. (b) 53. (a) 54. (a) 55. (d) 56. (b) 57. (c) 58. (b) 59. (c) 60. (c)
61. (a) 62. (b) 63. (b) 64. (d) 65. (b) 66. (d) 67. (d) 68. (a) 69. (a) 70. (c)
71. (b) 72. (a) 73. (d) 74. (b) 75. (c) 76. (c) 77. (a) 78. (a) 79. (c) 80. (c)
81. (d) 82. (c) 83. (a) 84. (c) 85. (c) 86. (b) 87. (b) 88. (c) 89. (b) 90. (b)
91. (c) 92. (c) 93. (b) 94. (a) 95. (d) 96. (c) 97. (d) 98. (c) 99. (d) 100.(c)

ANSWER KEY
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171. (b) 172. (a) 173. (c) 174. (a) 175. (b) 176. (a) 177. (d) 178. (c) 179. (c) 180.(c)
181. (b) 182. (a) 183. (b) 184. (b) 185. (a) 186. (a) 187. (b) 188. (d) 189. (c) 190.(b)
191. (d) 192. (d) 193. (c) 194. (a) 195. (a) 196. (c) 197. (c) 198. (b) 199. (c) 200.(d)

Edited with the trial version of 
Foxit Advanced PDF Editor

To remove this notice, visit:
www.foxitsoftware.com/shopping

http://www.foxitsoftware.com/shopping

